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1. Wit HROBCHEIDIIZ4:3THS. flilx AHSED S, RIZ BHSD S FEIRFICHIE L, ABRZEET
5.2 NDBHOTHESTOBHBEL T 798D L E, ROMICEZ L.
(SH1710%, A#k24r, Bik4dsr, CH6457)

(1) 2 Ap32[EHICHE S DI,
(2)  1EHICHE >8Pt E 2BHICH S - 7285128 280m fiit T\ 3 & &, AB B DFEEZ ko K.
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WEBDBLHEZDIIZSF:3TH S, WIF A2 S, BBIE BHS» S FKRFICHIE L, ABRIZEET
5.2 NDBHOTHEST-OBHFEL TH6 10780 L E, ROMIZEZ K.
(SH1710%, A#k24r, Bik4d4r, CH6457)
(1) 2 AB32[EHICHE S DI,
(2)  1EHICHES >8Pt E 2BHICH S 7285155 920m #iit T3 & &, ABBDEEEZ ko K.
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R#H7TAM &EE W FE 01 HFEESR
1. Wit HROBCHEIDIIZ4:3THS. flilx AHSED S, RIZ BHSD S FEIRFICHIE L, ABRZEET
5.2 NDBHOTHESTOBHBEL T 798D L E, ROMICEZ L.
(SH1710%, A#k24r, Bik4dsr, CH6457)
(1) 2 Ap32[EHICHE S DI,

1HEIHDOH S W12 AT 1A

2 HDHEGIZ 2 AT3AR (TRSH)

gD 3165 C, MIORNIE DL S 2\ DT, FED 351274 5.
T x 3=21%59%

(2) 1MHICHEZ> 280 E 2FHICHS - 72857723 280m BT\ 3 £ &, ABEDEEZ ko K.

* I 2RRIIDEK
: _ AR AR X 5 2REHIC Lo,
i _____ hifi < 763‘»_ §J\ AB=@OXxT7T0+@ %79 =
P @OXxTIT =0 O xT7 =0 21 THEDKIE @ x 2197 =6
: : Yo, 2l HOHE I, AHEDS,
21 5315 | — ! ®-®=0 #HnhTws.
' ' XoT, @ -1 =280m
= O =280+ 14 =20m
AB = @ = 20 x 49 = 980m
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WEBDBLHEZDIIZSF:3TH S, WIF A2 S, BBIE BHS» S FKRFICHIE L, ABRIZEET
5.2 NDBHOTHEST-OBHFEL TH6 10780 L E, ROMIZEZ K.
(SH1710%, A#k24r, Bik4d4r, CH6457)

(1) 2 AB32[EHICHE S DI,

1EHDOHEVIZ 2 AT 1 AR

2 HDHEGIZ 2 AT3AR (TRSIH)

FREEDY 315 ¢, I DANIEL D 52\ T, Rf]d 31512 5.
1047 x 3 = 30 93

(2) 1MHEICHEZ> 80 E 2RHICHS > 7285723 920m BT\ 2 £ &, ABEDEEZ ko K.

Ad +B * EE = HRIIOH
: g AEMETR AR X ) BRI ZH Ev,
L x1047 < 1047 AB=®x1077+® x 1047 = &
10 7712 = e i R
T X104 =6 G x 1047 = 6 30 3%DHIE @O %3057 =@
; : £oT, 2 HDOHE VI, AL S,
30 43— ! @ -6 =010 HNnT3.
‘ ' Xo7T, 69— =920m
= O =920+40 = 23m
AB = ) = 23 x 80 = 1840m

© B - BEZ KL L7912 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

